Test Data for Tweedle Dee (#1) and Tweedle Dum (#2)

1 PE peak data was gathered using an oscilliscope.  One turn of the high voltage source corresponds to approximately 200 volts.

Tweedle Dee(#1)

	Voltage (turns)
	1 PE peak (mV)

	7.5
	3

	8
	3.5

	8.5
	5

	9
	8.5

	9.5
	15

	10
	25


Tweedle Dum(#2)

	Voltage (turns)
	1 PE peak (mV)

	7.5
	2

	8
	3

	8.5
	4.5

	9
	10

	9.5
	20

	10
	30


Coincidence counts as a function of volatge using the LBL counter.  Counts are for a 60 second period.

	Voltage (turns)
	Counts
	Uncertainty

	7
	146
	6

	7.5
	280
	8

	8
	301
	9

	8.5
	315
	9

	9
	542
	12

	9.5
	660
	13

	10
	724
	14


Since the coincidence counts did not plateau as expected, we used a second counter and ran the test again.  Coincidence counts as a function of voltge using the counter in the CAMAC array.  Counts are for a 60 second period.  This counter has a higher threshold, so more voltage was needed.
	Voltage (turns)
	Counts
	Uncertainty

	8.5
	12
	2

	9
	157
	6

	9.2
	221
	7

	9.5
	284
	9

	9.7
	262
	8

	10
	272
	8


Since this data does plateau, there must be a problem in the LBL counter.  We suspect that the LBL counter does not have the correct termnal impedance and is causing the signal to reflect.  At high voltages, the signal stength is still great enough on the third bounce that it is being counted a second time.  (We suspect the third bounce because the second bounce would likely reach the counter within the coincidence window and would be lumped in with the original signal.)

The CR peaks for each counter were determined using the CAMAC array.  Graphs showing the results follow. 

Test Data for Batman (#1) and Robin (#2)

1 PE peak data was gathered using an oscilliscope.  One turn of the high voltage source corresponds to approximately 200 volts.

Batman (#1)

	Voltage (turns)
	1 PE peak (mV)

	7.5
	2

	8
	3

	8.5
	5

	9
	11

	9.5
	20

	10
	30


Robin (#2)

	Voltage (turns)
	1 PE peak (mV)

	7.5
	2

	8
	3

	8.5
	5

	9
	9

	9.5
	14

	10
	20


Coincidence counts were not taken for the Batman/Robin system due to problems with the LBL counter.  (For more detail see the Tweedle Dee/Dum data.)  We want the 1 PE peak to be at about ½ the theshold of the LBL counter ( 10 mV0  and this occurs at about 8 – 8.5 turns.  The counter in the CAMAC array has such a high threshold, we can’t look at the coincidence counts in this range, so we used the 1 PE peak data only to determine the optimal voltage setting. 
The CR peaks for each counter were determined using the CAMAC array.  Graphs showing the results follow. 

